'3 o
epmsmumelszmassamsudmsaudamansgn

!gﬂ\‘l MIMHnUATY 3!’3’(.11!!5’3!@’%%‘“6\1311&5@1&5115121‘1& 1.|‘5351‘1:J\1‘111J§$N1m W.A. 2559

UYINIZUIUMS

FZHLNAAUUUMS

v < a
Ha a3 (1AN)

STHZIANUNUMS

wanasa (nal)

' =
HTHIBINUN

v a
IUNATOU

o y A
L UMBUIFINGITN

= A a
2. Q]uﬂ]'ﬂii@!i@u!lﬁzﬂﬂu

v a p=1
1.1 M9l seiumy
1.2 MSTUFTEME

a

o L4
1.3 mﬂauﬂssuﬁmmu

a

9 a =
2.1 M9l semiums

2.2 MITUN LMY

Y
3. umuihe

S

3.1 Msuselszdiums
3.2 MISUFI5EME

] nwe‘lvmgqpﬂﬂszﬂauﬁﬂmsﬁ
ihsunnaneguam

4.1 volueyanalvi/me lueyana

30 1Y
511 /510

=
20 N/ 518

30 Y

=
5 N/

15

=3
4 UIN/318

20 U

6 U
=
4 0/5

I
14UIN/318

6 U

=
4 UIN/518

6 U

=
4 UIN/318

159U

(v =1 7 4
> Nuaauala




